Sepvremiyder 212

/

—" HOW coun We  use exponent vules Yo Q{L-'L---w;"j\\.!f"'bﬂ[j ~
COMAIEX naabn proosemas WA Algreen. g |
XeX*X X xH N node Hae S0dmel, S Mv? OweOki
X +Xex #X =YX L2fiv=cic 37
Nowme Qule Exovnpres ==
oroaucy-2ule | ™ o Ql“-: Q’W\W\ qZ . U“é = L‘Zh% -4" ] T
&uoHcV\EU % %%"_ =~ o 5. - 9> - g4 ] =
" _ ‘ 3 o= W il
Power ch\e. o = RN = =i
(¢ ® z 2. Js
\Povb/ev o oY = o'k [ (2-9) =275 U .25
\?_emtsmorm ol =4 |ooo?_°f A \ I
- o P R S it
ne| o = o =5 = 25
%\'EL)O‘% # YY) O;\J'—m Sles - T _%Fu‘ =
_Bwgonen | 07 - VA | 4" "
’ . =
| N TS, [ =
Wy % = 7% Q fefe-x-x X - B xxX = 2%
\oes. T D U gk o I
£
I 4
Hs :
WO vY? 126 x %0 ?;\—?‘ = Z%x?’pcf’ = |25 % 5-%, ]
DXy 2 e l
/ =
Pev CPV\\*C\K}P Cyvvov "
AT volue Qe o O, eV CONIEOC)) VYoV =

:l:h' Wil 1S

Close yD = bl

2
£

VoL, = \Wa- Vel x 100%

s 0 = Foundl Do)

m.«Pm\trhoyL(eslmﬂ e dits 18 \

Ng

28 T % = HOXS = 200 Levvor=V, -V,
— RODW\‘ 200000 ™ leacooo - OO i 00 \JA; OO XWINALE Vo2 #__
’ | 1 2ADO G _ \‘E = Exoch VOLUL,
EINORAL \ 2%“/_0 2 v }
1/

o(X W (SUVE ey

L 15 Occura

- : .
‘-0 — e S

Lut 2

} Oliv 1540 N =COU




—1 2 (51025 +10%) 4.0 x 107 2 5

2102 X-[02 =y
(.2 x108) H(2 x\07 =U.] x (0B]
fo|. |
‘ X 25 ex - x =] 9]

FX e X e = [ S,

I o

' 7 \m; = ”:‘:XID—L‘ hyr\
=i IOOOm \Obm ") 6.0007 5 nna
“JD_._L\L

PR AN AR




